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Single Layer &A1

* Boundary operations
— CLIP:
— ERASE:
— UPDATE:
— SPLIT:
— APPEND:
— DISSOLVE:
— ELIMINATE:
* Proximity analysis
— BUFFER:
— NEAR:
— POINT DISTANCE:
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Boundary operations: CLIP

e CLIP:
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Boundary operations: ERASE

 ERASE:
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Boundary operations: UPDATE

» UPDATE:
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Boundary operations: SPLIT

e SPLIT:
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Boundary operations: APPEND

* APPEND:
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Boundary operations: DISSOLVE

e DISSOLVE:
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Boundary operations: ELIMINATE

 ELIMINATE:
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Proximity analysis: BUFFER
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Proximity analysis: NEAR

* NEAR:
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Proximity analysis: POINT DISTANCE

e POINT DISTANCE:
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Multiple Layers & A

* Qverlay analysis
— UNION:
— INTERSECT:
— IDENTITY:

* Frequeny/Density analysis
— FREQUENCY:
— POINT DENSITY:
— LINE DENSITY:
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Overlay analysis: UNION

e UNION:
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Overlay analysis: INTERSECT

 INTERSECT:
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Overlay analysis: IDENTITY

o IDENTITY:
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Density analysis: POINT DENSITY

 POINT DENSITY:

2009k 18+7| X|HHH H A| AE)

18



HE] 7|8 GIS £4 (11g)

e Network &

- 2MA M= AtE, lEX], EX BE 52 S &5 75t o=
T2, A 0|=, Tjo|Z 2}l £9| o}_,-—_rLK(Infrastructure)ﬂ Z=7H.
Ol2{¢t ot &&= GIS AN H EX A (Network) = HH
2 7ts

- GIS A|AEI2 QADHR EHE HEKIES AZE M
HERZR EME X| &

- YEQIY HERIEE
(Flow Direction)= A&

— Q2dtxdo g2 HEYIA= LEtEAaAE 1AM

= LEOE 2o WXHE, 7=, A%1K|, ot &7HE 50| £
= 2 30= E2, M&28(Transmission Line), ItO|=Z, S5 0

(=1
=

20094 13H7| X|HEH H A| AE



HE] 7|8 GIS £4 (11g)

e Network £
- L-”E%Iﬂ H M2 E'(')'H

1= o

= X I:F7:'E(Shortest Route) : = Xl 7| X| e} ==
xS Qe Hi2o] Z2 2

= X _/.\_I:II%@E(Least Cost Route) : 7|2 X| 2} S ™ X|
£ 45t HEKIAYOA x| HE2 = O]
Sot7| 9ot A2 S A

— 0| 2|0f XI=t4d 2 EfM AL 1 E2F SHeENTraffic Allocation) 24| =
CiFor 200 Al O] &

20094 13H7| X|HEH H A| AE



HIE] 7|HF GIS &M (T 2)

e Network &M 0| X
- N2 X[SHE =M E0A "AO| M "B"TIEK| E|EHAH 2| A A

20094 13H7| X|HEH H A| AE



